
1. Mando Ki Pal' is famous for the production o f 

which mineral? 
(A) Fluorite (B) Soap stone 

(D) Pyrite(C) Feldspar 

39TATT 
? 
(A) GoNIETa 
(C) oHTR 

(B) tT yrerk
(D) UTERTE (i) zis 

2. Folk theatre form 'Rammat' belongs to the regi0 

(ii) 3 
iv) T 

of -

(A) Dholpur and Karauli (B) Mewar 
(C) Bharatpur (D) Bikaner

(A) steayr 3sitr avtot (6) |aT 
(C) RaJR 
Districts of Rajasthan benefited from Narmada 

Canal Project are 

(A) Hanumangarh Ganganagar
(B) Jalore - Barmer

(A) ()-i, (2)-ii, (3)-ii, (4)-iv 

(B) (1)-ii, (2)-i, (3)-iv, (4)-ii 
(C) (1)-ii, (2)-iv, (3)-i, (4)-ii

A)-ii, (2)-iv, (3)-i, (4-1 
(D) He 

3. 

. The famous folk dramatist Nanuram belonged to -

(A) Kuchamani Khayal (B) Jaipuri Khayal 

(D) Shekhawati Khayal(C) Churu - Jhunjhunu 

(D) Jodhpur - Nagaur

(C) Turra Khayal

? 
(A) gaT-i IA. 

(C)gR T 

(B) gT ETT 

(D) eTae M (A) HTTTG - TTTR 

(B) TIR - AN 

(C) I1 
(D) GTEgN - TTR 

Who wrote the Book Rao Jaitsi Ro Chhand' ? 

(A) Beethu Suja 

6. 

B) Veerbhan

(C) Karnidan (D) Keshavdas
4. Match the following- 

Tourist Place
(1) Soniji Ki Nasiyan

(2) Chaurasi Khambon ki Chhatri 

(3) Badabag
(4) Sunehri Kothi

(B) arHTT

(C) ootaT (D) acTH 

Which of the following festival comes last in a 

calender year (As per Vikram Samvat)?

(A) Krishna 

7. 

Place (City)
(i) Ton (B) Holi 
(ii) Jaisalmer 

cii) Ajmer 
(iv) Bundi

Janmashtami 
(C) Raksha Bandhan (D) Gangaur

The correct match is 

(A) (1)-i, (2)-i, (3)-ii, (4)-iv
(B) (1)-ii, (2)-i, (3)-iv, (4)-ii

(C) (1)-ii, (2)-iv, (3)-i, (4)-ii 

(D) (1)-ii, (2)-iv, (3)-ii, (4)-i

(A) F G=EH (B) eft 

(C) TETPE (D) ToTT 
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Which one of the following pair (Musical
Instrument -Type) is not matched correctly? 

(A) Bhapang - Tata 

(C) Singi-Sushir 

8. 

(B) Nad-Ghana 
(D) Tasha - Avanaddha (1) fa AT 

(2) TTRit PTy 

(B) T 
(D) IIT- 41 

(A) 4T- Tq 
(C) ferrt- yrr 
Dry farming is practised in which part of 

Rajasthan? 
(A) Westerm part 
(C) South-eastem part 

(4) TFTTET qr 

9. 
i) aRYTR

i) T. (B) Southern part 
(D) Easterm part (ii) iEer 

(iv) yeo1 (A) yfReat HTT (B) ztEvit 4TT 
(C) z- 47T 

(A) (1)-ii, (2)iv, (3)-i, (4)-i

(B) (1)-i, (2)-i, (3)-ii, (4)-iv
Who among the following is not in the selection 
committee of the chairman and members of the 

Rajasthan State Human Rights Commission? 
(B) Leader of the , 

opposition 
(D) Chief Minister

10. 

S (1)-ii, (2)i, (3)-iv, (4)-i

(D) (1)-iv, (2)-i, (3)-ii, (4)-ii

13. Mixed deciduous forests are found in which part 

(A) Home Minister 

(C) Governor

of Rajasthan? 

(A) Udaipur-Chittorgarh-Sirohi-Bundi BTT? 
(A) TE H 
(C) ITYT 

(B) fauH 7 T (B) Alwar-Jaipur-Churu-Jhunjhunu 

(C) Jodhpur-Jaisalmer-Bikaner-Barmer (D) Te 
11. Which river of Rajasthan is called Rundit Sarita?

(A) Ghaggar 
(C) Banganga

(D) Dungarpur-Banswara-Pratapgarh-Jhalawar (B) Banas 
(D) Ruparel

T? 
? 

(A) ayr-fatieg-AE-a 
(B) sTR-ugr-T 

(C) ueyy-tHaAR-tAR-TÀY 

(A) rTN (B) HTH 

(D)547RC) TTT 
12. Match the following- 

Sect 
(1) Bishnoi Sect 

(2) Jasnathi Sect 
(3) Dadu Panthi Sect 
(4) Ramsnehi Sect 

Main Seat (Place)
() Katariyasar 
(ii) Naraina
ii) Sinhathal 

(iv) Mukam 
Correct match is -

(D)TYR-ATHOTST-TITYTE-TOI 
14. Which among the following pair (Folk Deity 

Mother) is not correctly matched?

(A) Tejaji - Rampyari (B) Gogaji - Bachal

(C)Pabuji - Kamlade (D) Ramdevji - Mainade 

(A) (1)-ii, (2)-iv, (3)-i, (4)-ii
(B) (1)-i, (2)-ii, (3)-ii, (4)-iv
(C) (1)-i, (2)-i, (3)-iv, (4)-ii
(D) (1)-iv, (2)-i, (3)-i, (4)-ii

A) Aulu - T4YTXT (B) T - qT8d 

(C) yraut TTY (D) IHUft tura 
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15. ho among the following were n which painting style there is abundance of 19. In 
animals and birds?

with 
associated 

Hurda Conference against Maratha 
a. Maharana Jagat Singh II 
b. Sawai Jai Singh 

Maharaja Jaswant Singh II 
d. Maharaja Abhay Singh

intervention 
(A)Bikaner painting style
(B) Nathdwara painting styie
(C) Bundi painting style

LO Jaipur painting style
c. 

Choose correct answer -

(A) faot 
(B) TRMETNT fear 

(C) faN 
(D) Ty f7 

20 

(A) a,b,c (B) b,c.d
(C) a,b.c.d (D) a,b.d

a. HETRTUT GTT E II 

b. HAT NE 

c. HERIT TVT E II 
d. HERTT 3777 

Which one of the following pair (Name of RTDC 

NHotel - Place) is not correctly matched?

io A) Moomal - Jaisalmer 
Oo (B) Dhola-Maru - Jodhpur

(C) Kajri -Udaipur
D) Khadim - Ajmer

(A) a,b.c (B) b,c,d 
(D) a,b.d (C) a,b,c.d

16. (A) HO - THTAR

N (B) ala-HI T 
(C) buN- 3E4g 

o (D) nf - s7TR 

Which one of the following pair (Fort - Ruler at 

the time of Alauddin Khilji's invasion) is not 

matched correctly? 
(A) Jalore - Kanhad Dev 

(B) Siwana - Maldev

Who among the following joined the Battle or 

Haldighati on behalf of Maharana Pratap?
(A) Hakim Khan Sur (B) Medini Rai 
(C) Mahmood Lodi (D) Hasan Khan Mewati

(B) af Yy 
(C) HB a 
Who among the following Saints did not use 

Mewati dialects in his/her writings? 

(A) Sahajo Bai 
(C) Sundardas 

(c)Ranthambore- Hammir Dev 
(D) Chittor - Rana Ratan Singh

17. 

(B) Charandas 
(D) Laldas (A) R - 7&ga 

(D) farifs- TUT YE HE 
22. Any amount becomes 660 in 5 years and 776 

(A) HEA (B) RUIGTH
(C) ETH 

18. To whom, Munshi Devi Prasad has given the name 

"The Abul Fazal of Rajasthan"?

(A) Muhnot Nainsi 

(D) TTATE
in 8 years by simple interest. Rate of interest per 
annum is equal to -

(A) 6% 
(B) Suryamall Mishran

(C) Kanhaiyalal Sethia (D) Vijaydan Detha

(B) 8% 
(D) 6% (C) 8% 

HiST ? 
(A) 8uita tuTe 
(C) TTA YfUT (D) fauyeTA TAT 

(A) 6% (B) 8% 

(D)6% 
(B) oa Ra 

(C)8%
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23. Mr. X has some money. He gave 40% of totalamount to his son, 60% of rest to his daughter and rest amount to his wife. f his wife got 192 less than his daughter, then how much amount was Mr. X having?

(A) 1400 (B) 1200 
(D) 2000 (C) 1600o 

(A) TIRTa 

(C) qu- (D) a 192 7 IT S, t THT X 29. 

(B) 1200 
(D) 2000 

(A) 1400 
()1600 R 

24. In a team there are 16 players whose average age is decreased by 6 months when one player aged 28 
years is replaced by a new player. The age of new playeris 
(A225years

(A) TaeII-5HTRY AT 
(B) ry 
(C) g- f&T TATH 

(B) 20 years
(C) 22.6 years (D) 22 years (A) R, TATT7 (B) T, BHG 

(C)FTTRTE, TER (D) ifE, 734 

(A) frT- kRA; HTra, sig 
(B)F-gTi, EVUT, YTNTTT 
(C) -JRiR, THfR, qrufa 
(0y 134T- 2Y3, fÜgI, zfrrgs5

(A) 22 a (B) 20 q 

(C) 22.6 as 
A's and B's salary is in the ratio 3:5. C's and Bs 
salary is in the ratio 4:6. If their total incomelts T 6800, what is the salary ofC? 
(A) 2500 
(C) 2300 

(D) 22 a 
25. 

B) F2000
(D)1800

(A) TTT-T
(B) fer-T7R

A 3iR B à7 3:5 37Ua *IC rE (C) TOUY-TERY 
(0) gTe-fCT

8008, C 1 adT forT 8? 
(A) 2500 (B) 2000 

(D) 1800 (C) 2300 
An article is sold at the profit of 20%. If it wou 26. 

have been sold at the loss of 20%, then sellin (B) T TE TER TOT TT| 
(C) 7E T8 a_t fHA, TA TTAT T 

price would be 100 less. Cost price of the artiçle.
is equal to -

(A) T 200 (B) 300 
34. The corrected file is put up for signature. (C) 7 250 (D)400 

(A) 200 
(C) 250 

(B) 300 R 
(D) 400 
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Vatch the sentences given in column (A) (with 

lank space) with the determiners listed in column 
(5) so as to complete the sentences with corect

options
Column (A) (Sentences) 

How . wateris there in the bottle?

1) How 
. .boys are, there in the class?

(111) Please give me .. . water. 

(V) He has........ patience with others.

Column (B) Determiners) 
(a) some 
(b) much.
(c) little
(d) many 

39. 

35. fa 

q5f 

() TRHter, TE , 
iv) fA FHieT

(A) (31)-(ii), (-ii), (H)-iv), (7-) 
(B) (8)-i). (a)-i). (T)-(iv), -) 
(C) (7)-(ii). (T)-(i). (F7)-(iv), (7)-6i)
(D) ()-ci), -Gii). (H)-6), (-6v)

OMatch the sentences with blank spaces
in 

column

so B) 
(A) with the prepositions listed in column

as to frame correct sentences: 

Column (A) Sentences 
(i) I shall return .... an hour. 

(ii) The crops were destroyed ... 

rains
(ii) Deathi 
(iv) You can see the details.

(A) i)-(6), (i)-(c), (ii)-(a), (iv)-(d)
B ()-(b), (i)-(d), (ii)-(a), (iv)-(c) 

(C) i-(d), (Gi)-(c), Gii)-(a), iv)-(6)
(D) ()-(c), (ii)-(d), (ii)-(b). iv)-(a)

40. Choose the correct option:
Tell her to wait here. (Change into passive voice)
(A) Let her be told to wait here.
(B) She must be told that wait here.
(C) Let her be told to wait there.
(D) Let her to wait here.

Neavy

preferable .. .disgrace. 
*******i the computer

screen.

Column (B) Prepositions 
(a) to 
b) on 
(c)in 
(d) by 

Ai)-d, (ii)-c, (ii)-a, (iv)-b
(B) G)-b, (i)-d, (ii)-a, (iv)-c
(C) i)-c, (ii)-a, (ii)-d, iv)-b
(D) (i)-c, Gi)-d, (üi)-a, (iv)-b

. Identify the sentence from the given options whieu

is an active voice sentence -

41. What is the correct sequence of operation to be 
performed while using fire extinguisher?

(A) Pull, Aim, Squeeze, Sweep
(B) Push, Arrange, Sweep, Sequence
(C) Push, Arange, Squeeze, Sweep 
(D) Pull, Aim, Sweep, Squeeze

(A) The festival takes place once in every ten 

(A) , .ATAT TIAT, TAIT, J4 
(B) ecT, aafea YT, THTT, 74 
(C) eco-T, a7atkra YT, GAT, ZHT 
() diaT fAA G, JHTT, FAT 
Inlets, landing valves, drain valves, door hinges 
and locking arrangements to the inlet and landing
valve boxes should be inspected -
(A) every three months (B) every six months 
(C) every year 

years. 
(B) The Olympics.were started by the Roman 

Emperor. 
()The festival was held in honour of Zeus. 
(D) The windows don't get cleaned very often. 

38. Choose the correct option-

42. 

He said, "My wife leaves for Mumbai tomoTow.
(Change into indirect speech) 
(A) He said that his wife would have left for 

Mumbai the next day. 
(B) He said that his wife leaves for Mumbai the 

day after tomorrow.

(C)He said that his wife would leave for Mumbai 
the next day. 

(D) He said that my wife leaves for Mumbai 

(D) every week 

(C) q (D) u FTIE À tomorrow.
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43. Once in how many years the refilling shoud be 
done in water type fire extinguisher?

(B) 3 years 
(D) 4 years 

(A) 15 er 

(sH 3TeTT 3THT) (A) 2 years 

(C) 5 years (B) 25 

(A) 2 a 
(C) 5 q 

(B) 3 q 

(D) 4 q 
44. Hoses and accessories should be kept in hose 

cabinet painted.

(A) Fire green 

AR. The RACE acronym simply stands for 
(A) Rescue, Alarm, Cover, Exit 
(B) Rescue, Alert, Cover, Extinguish
(C) Rescue, Alarm, Contain, Extinguish
(D) Rescue, Alarm, Contain, Exit 

***** 

(B) Fire blue 
(C)Fireyellow (D) Fire red 

********** 

(A) 4514R tA (B) 5T4R (A)7 3AATA, TTR, yfye 
(B) 3TE, PR, VHfeTT (C) 54R a 

45. A... .... is a mechanical device which 

(D) 3TTH, I, yfrue
49. Replace power strip electrical cords, when 

(A) They have been on the floor for more than a 

transfers energy to a fluid.

(B) Venturi (A) Hydrant
(C) Jack Hammer (D) Pump 

month.
****** (B) They show any sign of discoloration. 

(C) You have used every outlet on them.

(D) You change your smoke alarm battery.(B) d 
(D) yu (C) R 

46. The head room clearance for all pump house

should be minimum.. ******"

(A) 1.75m (B) 1.5m 
(C) 2.75m (D) Im 

50. To avoid pilferage, components like landing valve,

hose coupling, branch pipes, lugs, etc. made ************ 

(B) 1.5 HT. (A) 1.75 T. 

.75 Ht. 
47. High rise building means -

(A) A building 15m or above in height 

(respective of its occupancy) 

(B) A building 25m or above in height

irespective of its occupancy) 
(C) A building 15m or above in height

irrespective of its occ 

(D) A building 25m or above in height

(respective of its occupancy)

f. . are recommended depending on 

(D) 1 weather condition. 

(A) Nickel (B) Aluminium alloy

(C)Stainless stel (D) Iron 

nc y) 
(A) foa 
(C) TTTH FEla (D) 
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n which zone of a candle flame no combustion 

takes place? 
(A) Innermost 

51. are 55. Which of the following should you do, II you 
unable to evacaate a burning building(A) Break wintows
(B) Stay low under the smoke
()Open the door and windows to let the sino 

oke 

(B) Middle

(C) Outermost (D) All the three zones

out 

(D) Breathe thfedgh your mouth
? 
(A) 31TTaR (B) Hezh 

(C) aTE (A) fasfui afeg 
(B) g fey 0The fire assembly point can be best described as -

(A) Where the fire extinguishers are stored 

(B) An area where you are required to assenmble in 

the event of a fire 
2 Which of the f6Hdwing installation is used to spr 

water over a surface to provide protection of fire?
(A) Hydrant
(C) Drencher

(C) An area that has a high risk for fires to occur

(D) An area you are required to avoid in the event
(B) Sprinkler 
(D) Riser of a fire 

(A) TEi SfRT5 vd urd 
(A) BI 

(C)T 
(B) ucaR 
(D) VTS LO 

In wet-riser systen, the words "Fire Service Inlet
should be written in letters at least.....mm n 
height 
fluorescent fir�red colour. 
(A) 95, 20 
(C) 80, 15 

ETT 
and..C........mm width in in 

(B) 90, 200 
(D) 75, 12 57. Which is not a type of fire sprinkler system?

(A) Dry pipe (B) Pre-action 
(C) Deluge (D) Even-distribution 

(A) T TST (B) -yar (A) 95, 20 
(C) 80, 15 

(B) 90, 20v 
(D) 75, 12 (C) (D) sa-fgaga

LPG is heavieftRan air 
(A) Correct
(B) Not correct
(C) Equal 

54. 
58. Which of the following NFPA code deals with 

standard for portable fire extinguisher?
(A) NFPA 10 (B) NFPA 11 
(C) NFPA4 (D) NFPA5 (D) None of the above 

(A) H 
(B) HE TE 
(C) aYTAR (A) g5.g. 10 

(C) yH Tg. 4 
(B) A.y.y. 11V 

(D) gAgTg. 5 

107 Page 8 of 16 



aneous combustion can occur, when of water required to control or 
59. Spontaneous 

63. 
The amount of 

(A) oil aked rags are left clumped together or left 
without soaking in water 

extinguish 
a fire is called as -

(B) 
candles are used 

(C) porta 
heaters tip 

(D) grease 
is used for cooking 

(A) 
Maximum design density

(B) Design density

(C) Required design density 

D) Minimum design density 

without a glass cover 
over onto a carpet 

LO 
(A) aH 

(B) 

(C) uTac 
(D) aUI7 UTa 

64. First thing to do, if a person has been injured by an 

electric shock and does not have a pulse -

(A) Wait for ambulance to arrive

(B) Give CPR 

(C) Lower the head and raise the legs 

(D) Check for other injuries

N 
60. Which of the following is not the attribute of 

good fuel?

(A) Safe to handle

(B) Low calorific value 

(C) Moderate rate of combustion 

(D) Cheap and easily available 

L 
CO 

(A) T HeeT Y 
(B 1.3TR. 

(B) f iy H 
LS 
CO 

(D) FHT TR STHTAT A 3YTE 

61. The method of propagation of fire are 
(A) Conduction 

(C) Radiation 

65. What is starving in extinguishing of fire?

(A) Removing fuel element from fire 

(B) Using water to cool fire 

(C) Adding fuel to fire 

(D) Preventing oxygen supply to fire 
(B) Convection 
(D) All of the above 

(A) T 
(C) fyT 

62. What is the colour indication for "Rescue" as per- 
Tally Board?
(A) Blue 
(B) White with light green bar 
(C) Light blue with white bar 
(D) Blue with red bar 

(B) 5dH 

66. What is the function of regulator valve in BA set? 
(A) Increases pressure from low to high 
(B) Decreases pressure from high to low 
(C) Maintains same pressure
(D) All of these

8? 
(A) iTT 

(D) 34R 
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67. Three-man carry is also known as 

(A) Human stretcher 
(C) Fore and aft 

(B) Fire fighter's 
lift 

(D) 4 handed
stretcher 

White band present on the cylinder of respiratory 

system indicates which gas? 
(A) O2 
(C) CO2 

(B) CNG 

(D) N2 

(A) &41 U 
(C) 3tR 3T 

What should be the travel istance of exits on any 

TT 8? 
(D) 4 s 

(A) 3ifritu (B) FyA. 68. 

floor of business building? 

(A) 40 meter 
Brd- TIETTHIST (D) ETT 

73. The term "means of escape" can be best described 
(B) 45 meter

(C) 30 meter (D) 25 meter as 

A)the long�st route out of a building during a fire 

(5) the safest route out of a building during a fire 

(C)the shortest route out of a building during a fire 

() the quickest route out of a building during a 

fire 
(A) 40 #TR 
(C) 30 HeR 

(8) 45 e 
(D) 25 HeR 

How many ways should you know to get ou o 

your house in case of fire? 

(A) One safe way 

69. 

T HTT& 
(A) 311T aTA aTTHTNT aTEY AqÀ T (B) Five ways 

(C) Atleast two ways (D) Mixed ways 

(C) 317T ATA TNTHTRT ATEY Ho 

(B) T 

Where should you aim a fire extinguisher nozzle

when putting out a fire?

(A) At the base of the fire 

70. 
74. A maintenance check list for all types of fire 

extinguishers is listed in accordance with 

(A) I.S. 2190-1992 

(C) I.S. 2290-1990 

(B) I.S. 2190-1990 

(D) L.S. 2290-1992 
(B) At the top of the fire 

(C) At the center of the fire 
(D) Away from the fire 

AT. JH. 2190-1992 (B) 3HT.gI. 2190-1990 

(C) 3TE.H. 2290-1990 (D) sITS.VH. 2290-1992 (A) TT H TR 
75. The hose reel should be directly taken from the 

wet-riser pipe by means of a........ 

socket and pipe to which the hose reel is to be 

attached. 

(B) 3TT M TY 
. mm (C) 3TT R 

(D) TT V 
1. Forest fires are a result of which type of 

(A) 37 

(C) 40 

(B) 33 
(D) 38 combustion? 

(A) Rapid (B) Explosion 

(C) Slow (D) Spontaneous 

(B) faxte zE1 (A) 37 (B) 33 (A)g 5 
(C) 7 (D) ayaff7 TE (C) 10 (D) 38 
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should you stand

isher to put out a fire?

(B) 6 feet 
(D) 8 feet 

when you are 
76. How ar 

using 
a 

lire 
extinguish 

(A) 4 feet 

(C) 10 feet 

ar away 
80. Fuse is always 

made up of alloys and metals 

having 

A) Low 
resistance and high melting points

8) Low 
resistance and low melting points

C) High 
resistance and high melting points

(D) High 
resistance and low melting points

(B) 6 e 
(D) 8 5 (4) 4 wie 

10 

77. How 
many 

workers

related
incidents per year? 

(A) 200 

(C) 400 

are estimated to die in fire 

(B) 50 
(D) 1000 

81. Which are 
class A, B and C fires? 

(A) 
Electrical 

equipments, metal, dry chemical

(B) Metal, 
electrical equipments, cooking oil 

flammable 

74THTT ? 

(A) 200 
(C) 400 

78. What is the full form of PEEP? 

(A) Personal Emergency Exit Plan 

(B) Personal Emergency 
Evacuation Plan 

(C) Personal Equipment and Eye Protection 

(D) Personal Equipment Engagement Practices 

. (PEEP) 74 ? 

(A) yeTHVGR g{yE 

(B) 50 
(D) 1000, liquids, electrical 

(C) Trash,

equipments 

(D) Metal, cooking oil, dry chemical

(A) faerdt T4YUT, TG TET FHT4 

(B) THTCARTHI zdrgT7 
82. Smoke detector may not be more than 

79. What should you do when your clothes catch fire?

(A) Stay where you are, drop to the floor, roll 

slowly against the floor and cool off with 

water after the fire is out. 

.. ... 
.. 

feet from any point of ceiling. 

(A) 900 square feet 

(C) 15 

(B) 21 

(D) 30 

(B) Run as fast as possible in the hope that the 
wind will put it out. 

(C) Grab a fire extinguisher and spray it all over 

yourself, 
(D) Shout for help. 

A900 7i viiE (B) 21 

(C) 15 (D) 30 

83. Universal Extinguisher is -

(A) Foam Type 
(B) Wire type 

(C) COtype 
(D) DCP 

(A) 1 ETE 

(D) H fay faoenyi (D) st. 
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84 hoses are joined together or to an appaaus
he BC class dry chemical powder is available 

with -by fittings known as.. 
(A) Breechings 
(C) Branches

(A) Potassium Chloride based
() Potassium Bicarbonate based 

(C) Both (A) and (B) 
(D) None of the above 

(B) Adapters
(D) Couplings 

*****"************ 

(A) ftira 
(C)ATT

(B) sTr 
(D) ufot 

(A) efAyH TNISS 37TETÍÝT

85. e) aAi (A) Ya (B) A hot permit allows you to - 

(A) Carry out work that can potentially Caue d 

fire.
(5) Gives you the authority to start a fire on he 

worksite. 

89. Code green stands for 

(A) Fire 
(C) Smoke 

(B) Intruder

(D) Evacuation 
(To work on a worksite containing extreme

temperature. 
(B) gufT 
(D) fu574U 

(A) 3TT 
(C) ega 
What is the percentage of fires in the workplace 

caused by human error? 
(A) 5% 
(C) 20% 

() Allows you to practice fire drills on he 

worksite. 

(B) 85% 
(D) 50% 

fbcT8?
B) 85% (A) 5% 

(C) 20% 
T 

(D) 50% 
Which component is included in the Manually

86. The three elements of the fire triangle are- Operated 
(MOEFA)?
(A) Manual call station
(B) Talk-back system
(C) Public address system
(D) All of the above

Electronic Fire Alarm System 
(A) Oxygen, fuel and a heat source 

(B) Water, a heat source and fuel 
(C) Fuel, oxygen and earth 
(D) Oxygen, water and fuel 

N 

fE (MOEFA) qTHT TET mfAT ? 
(C) gui, sifrilT STR YeAT (B) ci- frEH 

87. Which step of Ss concept refers to 
(D) ug TR 

92. What i_ the first phase of fire suppression? 

"Standardization"? 
(A) Step-IV
(C) Step-I

(B) Step-I1
(D) Step-I (A) Initial altack (B) Communication

(C) Good management (D) Fire identification 
(A) agr TrIS 
(C) yera zRT 

(B) ferta ZRU 
(A) TR TDUT (B) HY (D) Tt 

(D) 3TT T8ak 
107- 
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stove 104. Which101. The best way to control a fire in a par 
is to 

(A) Smother it with a lid that fits the pan. 
(B) Fan it with a towel until it goes ou 

nich type of extinguisher hus a hard horn on the 

end of a flexible hose or metal arm? 

(A) CO:(Carbon dioxide)

(B) H20 (Water)

(C) APW (Air-Pressurized Water) 
(D) ABC (Dry chemical) 

(C) Carry the flaming pan to the nearest trashbin, 

(D) Use your garden hose to spray it out. 

HAH 3TT TT 

(A) CO (Td7 3T¢strasS 
(B) H20 (T) 

(C) APW (Tg zarayT U) 

(D) ABC (TT VHIY) 
0BCF Extinguisher is used to extinguish which type 

of fire? 02 According to National Building Code of lndla, 
buildings 

.....of occupancy. 
industrial1 categorized (A) Class A are 

under.. (B) ClassB 
(A) Group H 
(B) Group E 
(C) Group G 
(D) GroupF 

(C) Class C 

(D) All of the above 

(A) TTT A 

(B) THHB 

(C) THC (A) FE 

(B) TF 
106. Which system is installed to extinguish fire of 

(D) HF Y. liquids having flash point below 65°C?

(A) FWSS 103. Acceptable temperature range in industrial work 

(B) HVWS area is 
(C) MVWNS (A) 13 to 30 degree centigrade 

(B) 3 to 12 degree centigrade 

(C) 5 to 10 degree centigrade 

(D) 0 to 11 degree centigrade 

(D) None of the above

(A) g5. S TH. YI. (FWSS) 
(A) 13 H 30 fot itds 

(B) 3 12 t ¥eis3U 
(C) 5 10 feft wes 

(B) g7 3 H. (HVWS) 

(C) H a. 3 yH. (MVWSA
(D) vTT TET (D) 0 11 fr:ft wetis 
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degree burn you should 
107. To treat a first 

with hot soapy (A) Clean the area thoroughly 

water
TET E, 3TT 

(B) Apply a constricting 

and the heart 

band between the burn 

C) Apply a good quality burn eream or ointment

(D) Apply cool running water until there is little or 

(A) fact TRiT T 

(B) 7Ti_T 

no remaining pain 
(C) 5T4 uS& 

(D) F7MT 

110. Which type of fire extinguisher do you use to fight

electrical fire if a carbon dioxide extinguisher is (A) T HIg1 TH TIE 3 E 
an 

unavailable? 

(B) Dry powder(A) Foam 

T (D) Water(C) Wet chemical

108. Which type of material is used in heating system?
(A) Incombustible material (A) 54 (B) I TSR 
(B) Cotton material (C) fT TRHTYT (D) y 
(C) Combustible material 111. Which special hazard fire protection system has 

(D) Polyester material
been outdated since 1993-1994? 

(A) Halon 1301 (B) Clean Agent 

(C) Dry Mist (D) Inert Gas 

(A) 3vacTHRiTT TEr 

(C)oTiTA HTT (A) gc 1301 
(D) uiferytR ITI (C) g 

109. The minimum temperature at which a liquid gives 112. Which of the following is a type of fixed fire 
off sufficient vapours to form a mixture to sustain fighting? 
fire when an external source of ignition is brought (A) Salvage sheet (B) Rope ladder 
to it, it is called - . 

(C) Knapsack tank (D) Sprinkler head 
(A) lower flammable limit 

(B) flash point

(C) fire point (A)HTd7 iTe (B) 7 
(D) spontaneous ignition
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